R 95 (L) (BB, H6S, H6KD2, HTRKLVHTHRDO2MMR) T 2
KR R E
HARES BOE T BE W
K & B i Bl g T T = M =
e 456,108,400 1 | AKLEHY —f fi4  REEIK E%E%I%ﬁ~t
PB4 4 41,464,400 ) | oKk | ZOM( I Prriend e
Fq AN
. A B ) AFLH T M7 % 5 H 14 H
(R M) | EHEZROIEEHHB 1
SEE GRS M)
!
SO (HEBLFE Y%A M) FEEF DA O T %8 E L7 # i
(R M) | EREZAROIEEHBE 2
SEE GRS M)
!
e (HEBLFE Y%A M) [EEROIRLZETHE 3
ZHE3 —
(R M)
SEE GRS M)
T E 495,770,000 kAR A H T ] i &
i ¥ [ EEBUAE Y4 48 45,070,000 [9) | . H S fM7H&7H4H
AR 456,108,400 [ = 4 w7 HE6 A 10 R £ S84 3 H6H
fili #&  [(GHE B 4 %E 41,464,400 1) . Ei
: ZE1
R =
(A A AR AR — T H 107 B A
EHE2
(P55 3UFA4 FR) ES
R TR s i
T F 4 PRARE DL TR T F %
BT/ N SE TH(T #7595 FAFINFK FAFTEEP TN




B 95 (TFFE4) (BS54, 65k, HO6RD2, FHTHRMOETSHRO2E84%) T 3
KRR E
TRRRAEA R ALV OHERER
K & K & B YR T T %= M =
) 7,755,000 9 | AKLELKY — a4 EEEE EERIRER T. A=1892.8m
SEE EIEEY 705,000 ) DIk DA ( )
M
AFLH ST 5 14 H
gy |GHABLAR Y ) v RS A
(HE ek M) | EEEKIARLEERE 1
CEE- ¢ EET | M)
M
S CEE- ¢ EET o M) BEE K OBE DM T 2R E L-HH
= (A M) | BRI ARDE T 2
CEE- ¢ EEE | M)
M
e CEE- ¢ EET | M) |ZEEZARLEFEHE 3
3 —
(HE ek M)
CEE- ¢ T o M)
¥ & 7,911,200 RS T A B T H i &
i 4% |GH B 4% 719,200 ) | N H S M785H27H
B AL PR 7,074,100 M = w7 E S A 26 H T S FfMS84E3 H 3 A
fili #% |(HEBIFHYS%E 643,100 1) " H
- EH1
LK ¥ K 4 =
(FFT) EAFWEH23 o H
(P75 34 FR) =
WA FRAL W3 i
T # 4 AR DL TR T F= % pr
— ) IR AR R T — /3t FATF R — /N




FREEE 95 (L HE4) (555, H565%, H65:D2, FHTLEKUHE 754D 2MM%) T 4
KR R E
RS BE BHERER
2K & gl BRILE T G
B 4,851,000 | AKLELK) — A BEERK IRBOB R = A T —5U
T 141000 ) | x| zom )
Fq AN
. A B ) AFLH S fm 7T % 5 A 21 H
(AR M) ([EEZIARDEFHERB 1
(HEBLFE Y%A M)
!
SO (HEBLFE Y%A M) FEEF DA O T %8 E L7 # i
(AR M) [EEZIRLEFEHE 2
(HEBLFE Y%A M)
!
S (HEBLFE Y%A M) | EEEOIRDIEFEESE 3
(AR M)
(HEBLFE Y%A M)
T E 4,851,000 [ FHRIFEREEA A T H =
i ¥ [ EEBUAE Y4 48 441,000 1) | . H S f74%#6H2H
AR BR 4,435,200 [ . w75 A 30 A £ SMTH9H30H
fili #&  [(GHE B 4 %E 403,200 1) e &l
: A1
A O I S
(FEFD  RAFHEATH2814%3 - [
L2
(P X134 ) Ed)
ZO\DIE(E R A3 i
T %= 4 R EE D44 TR T % %
TN T/ N ARG B 25 i T T AT/ FAF T EER TN




RO (T %) (BB52&, 65, H6ROD2, TR I UFH 7RO 2BLR)

R R E

|

AR B BE Rk

2% & % ) R T T =
51,700,000 E2b —J = L WE TR —R
wy | AR | D fes BRI EELE
(i 2 A1 4 4,700,000 [1) | ©Ftk | ZOf ) e
i
AFLH Sofn T 5 A 28 H
gy |CHZEBER Y% i) WM
(e M) |[EEEIRLE TS 1
(BB 4 %8 M)
i
%E2<%§mm%@ M) WS SR D& DA TF %38 E LT B
- (H i M) | EESBGsEfEn 2
ek gk ey M)
i
" GG EY M) | EHEEARLEFEHE 3
B3 —
(e 1)
(BB 4 %8 M)
¥ 53,746,000 LRI A T 1 i &
fli ¥ [(HE P M%E 4,886,000 ) W N H S fMT746H23H
AR PR 49,347,100 = 4l T Rm7TE 6 NE = S M84ME1 H30H
i 4% |GHEBUE Y% 4,486,100 1) H
‘ IEH 1
B EF A =
(=) HEHEFT7— 136 o H
(P& T4 =
b T ZED ;
E
T = 4 FEARSE D 4, T T £ B
BUINFER B S s T FUNFERL R FRiAERT Lt




AT (TFHH) (F55. H6SR, H6RO2, BHTRMLUHTHRO2MLR) T 6

o oAE RO OE
WAL R BB WRGSIR
K A& il ERILE I == #M =
2,662,000 LEHK — = B BRI LE —K
wy | RS e CH% JUERK 2
(HE B 4 %A 242,000 1) DIk F DA ( )
M
L 4 7 5 28
ey |GHRBE ST I I
= (A M) |ZwEsscmasmmE 1
CEE G EEE M)
M
D CEE G EEE M) MEZKIDOLGE DT FaEE LA
= (A M) |ZwEsscmassmmE 2
CEE G EEE M)
M
" CEE G EEE M) | EWEZKINARDLDELHB 3
ZEH3 —
(HEJRRE M)
CEE G EEE M)
¥ 2,706,000 LR A T # i &
i ¥ [ EEBUAE Y4 48 246,000 [9) | N H S f74%#6H5H
TR PR 2,469,500 M i woRT 6 1 4 = S84 3 H 2T H
ili ¥ |GHEBIAE M4 224,500 1) . H
- I
K O¥E K 4 e
CEED) FEAFMAEAE36—1 o H
(B X4 75) =
BHEATER AL UR] i
T == 4 PEHREE DL TR T =F ¥ B
B A B AR R ERE T [ AR EAFHER T H#N




B9 S (T HHRA) (BS54, H65k, H6RD2, HTRLOHETRO2MMR) T 7

oKk RO E
HARES <BLUBES AR EFR
K A& vl ERILH T =F M =
2,750,000 L3 — i g S FEEATLEDIL. 3%T
wy | M AL e (IR ER
(HE B 24 %0 250,000 ) | D F DA ( )
M
LH AT 5 28
ey B gy | AP T TS A
- (B4R M) | ESIR A S 1
(VHE BN 4 %A M)
M
D (VHE BN 4 %A M) MEZKIDOGA DT Fa®E LA
- (B4R M) | E IR D R 2
(VHE BN 4 %A M)
M
" (VHE BN 4 %A M) [EWZKIARLIETHE 3
AEH3 —
(M JR%H M)
(VHE BN 4 %A M)
¥ 2,970,000 [ BkRREHE A B T i S
fifi k& |G BB A 270,000 1) |, N A S M746H10H
eI BR 2,732,400 1 = A TmT 6 A9 H E S MT4E9 H 30 H
fili #% |GHEFAE % 248,400 ) . H
N AH1
B E R AL £
(fepm) W E=FLIT64 — H
(PEE& X34 %) =
BRI A AR B3 i
T == 4 BEHREE DL TR T %= 5 A
A= DRI it X LED{L L5 EAXFE2AR—YDOH: FEAFHAEE A




